2 An IR 111 # 12 7 9 p frde 7F % 1110761485 5L

WEEREL

WEERIL KN KL 15
LD LA R AR

-~ AERFHR

14 ¢ 2L T E 3.4 p & g p
4B A 4 2 BiRpEM G BT RE

5.5 fE iyt o

6.5 A hh(k = &4 )

7 R(N 2 FE)E u((F = A8 (ke ok

8AZFAET LommmEr & 7

9.8 wHmig s (vaE) (1% - % % -5 [
(% =35 % ~3¢ A

1080 cmpr s iER [(1* 2 JEA [BER

‘~%ﬁ*ﬁ&%ﬁ%%

Lo v g i) | Ok R e RaFsiE ORmS v Coforps Do

2 zéﬁ“%'ﬁ\(’v’fé“) SO s TS E S SRiR AR T R S [T RERDIR
[IE: R

30 R ) | (185G B AL (6 &80 (1 5r i 12 6

4, 2 4 L FEREgE) LA 7 F li.’iﬁ [t  []##

5. P A i B(d A ag):
) 2 g 0 (02 > b2 np Sk [ b2 AR
Q)# & ik 1 st s [P*%Dﬁ%[ﬁ*x[P@-Dﬁw[j%a[j@%

[]# &
R N D&%‘?
g p
[]# w© :
e *rx: & [J@rErazp

@ * 2 [Je FmAHEBH > F A7
HES -T2 f“l%q*’%zlﬁal__m%]l\’ P
(lig b ® » e TR FHEENT RHEITRY

D_}iw:
S BRI R R AN

#E R 2 APM L ET(T A E)
(e 4~ [@uwﬁ&ﬂjé&ua&(/ ) 1% %83 % (SR8 &) [P G (=/+%)
] ”ﬁz‘fﬁ}i METES = Y- D@a‘hzé G (] & &<m [PPF %: HATE
L) samem (847 (8% DF&M‘* (]
PR/ (mag) e Oy »g LA ? Dfll? Lier [gevr L%

ERE

E 1/4



2 An IR 111 # 12 7 9 p frde 7F % 1110761485 5L

L2 3C I PANE -5 i I
Lt o ok
I NS A 2 o
BEMEF D a8
RE T ok
MR ok
. o ST
eI AP
,&
- s sk ggiz o ¥ [k 5%
e sk (% w2 [ed Kk (%%
- [ % s [ed Mk (3%
Evgpdl ¥ [ v asFmgne @ = F w4l d8atd 2 & [ 282404
g (Dl DS #8867 as s g JfL p apgs i
(FHE) (A HHEERT DR EE S EaE) Dkl Ove On = O

¥ A7 4 E)

(15 ¥ # &7 B %7
(I £ 4 i prghe ) 0 TEpET w i o §0 0P ¢
% 4ripg cIC A (IS Al A & e B> BRA
gy A v g 2 2 ATE
[ ] & {4 &b (hyperkyphosis) @ [J3% 4 ¥ # & []% > B 287
[ ] & % Y (hyperlordosis) : [ ]384 7 A & []% > H %73
& 3 % 4% 4 (vertebral rotation)

[l

R

e/t g2 v ak [(Reav7a kg Ox 2R L%
(e 2/+ a5 gmm v a g [RA7aF [z 2\
O 2/+ % gm0 a g s mag D2 28289

O % CIp e%2 [ B %2, e %35 [0 2 %35 (b i 83

IR(¥ 4515
@EF (7 45 &) D%ﬁ:gﬁ'«f'—: B
dan Oz 4 Oae 7 (002 92 (86
BIt(magE) (Lo & Cp ) Do) s s, ¥ ey, 2 e

P

ES R AR - L

shAz D[] % £ W shge [)% SfRetabde [R5 05 @ b4
L S R
(4 548 %4 = fvh 4
T A LB s

(% 2 i i

T 2/4




A ARTIST 111 £ 12 % 9 P fiFiE R % 1110761485 B
TSk (AR L AR L TSI P M P LB 7 Y )
L=
Dz Li’éi‘ql/% B j‘},'fjrﬁ‘_,i ;12 d
[k i
(]9 %% B30 42 Gk Thig R(ATUR Fa8 » H Y 3

T ~

-y
ol

|

:
A BAIE P f T

[ 110 % = Nzh = %

(78 = 111 w6 pA 38 ok = %8

(8 % 112 15 frgsh = 28 & AL B 4 6520 A2

(8 % 113 15 frysh = 2 & A G - 520 A2

TR R[] E [
FEXPEREET 5L [

7 3/4



I~ RHREEHR
LR Rl

A AR 111 & 12 0 9 p (FE 75 % 1110761485 5

AP BE i it
1. D”‘]&K'P %% D%Eﬁﬁv’%ﬁg LD Al A Fgfg-
2% 2wt R OFAVAE RV BB K
3. [ 5 iy "3& WA FFF LT g R
4, [ JEZREH ZfeE » A550 ¢
S ey 5. L&+
< b = A 7
DE_——-}«\\L——% GDﬁT’J:
MbPiuptE 3 P RiE 3
Xqﬁds%?\%*ﬁ—‘fj""
}%ﬁ—‘ﬂ—u—:
1L ORARE B> (B
2. LIpE3 2157 e = T #43)
AP B fie it
LI R (TR AF (3R H2B K
2. 2R AHR T AAF LBATH2AF
[0 A N b 2 2 3. [LI%Ins e X HFH
4, Diﬁﬁqkﬁo],aﬂ \:
5. DF’ s
IO F R 3
MKATEF AL e k2 et
e trd B3RS N L[ E @A A T &3 A
Ap M e 2
Clegsspl A FR TR AF LU ATH2AE
[Pl 2R TR AE s AT —f;%i:éf
(2Rt HFR (A AE (3 EAV B AK

(148 #rs\ah = 2
B P AL

P 2 2]

BERE Sk
[JE3H 2 feid » A55¢ ¢
(8RR & & B 2 ﬁr&d;%;;
[J= 34k L F & @
Dﬁ s

XP‘+ﬁ°1i%j—’ #iE37
METRF AR B2 it

No s wDd e

co

L4
%
=

(i s &

I

’ la‘?#:ﬁ’g ¢ ;\,‘!E ]Vu B mj@ﬁopij} T},.,E’ja B‘—F:\.‘,F?—% #—E ];4_ L@ ’:F'T\’ E?J-}ix

[ W

L H

FiE AR B?‘”f?’- F = .%f /i ¥
e P A

3
T




